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PUBLIC INTERNATIONAL LAW
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Full Marks : 80
" Time : Three . hours

The figures in the margin indicate :
full marks for the questions.

Choose the correct aniswer : 1x10=10

(a) “The word International Law was used
~ for the first time'in 1780/1781.

(b) International Comity are binding / are
not binding.

(c) The first UN Conference on the Law of
the Sea was held in Geneva / Paris.

(d) The term Neutrality}‘has been derived
" (777 from the Latin wonj/' ‘Neutral’ / Neuter’.
!

There are two/thrée theories of State
Recognition.
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Contd.



(/ The UNO was came into force from
October 24, 1944 / October 24, 1945.

(@) The Declaration of Paris 1856 says more
 particularly about Blockade /
Contral_)and. -

(h) The Universal Declaration of Human
Rights 1948 was passed by the Security
Council / General Assembly.

(i) Contrab#hd may be of two / three kinds.
() There are two/three essential elements

of Neutralit}{.

Write the following : 2x5=10

(a) Weakness of the International Law. ’

(b) Condition for recognition of a new state

(c) Belligerent occupation

(d) Contraband

(e) Advisory jurisdiction of International
Court of Justice. -

What is Internaticnal custom. Discuss the
Imporiance 6f custom as a source of
International Law. 4+8=12
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‘ended. Explain fully.

Or

" Define International Law. Whether

International Law is law in the true sense of
the term or not ? Discuss. 4+8=12

What do you mean by State Succession ?
Write about rights and duties arising out of
State Succession. 4+8=12

Or

What.is the basis of principles of Extradition ?
Write some essential conditions for
extradition on surrender. 4+8=12

Write the meahs and methods of settlement
of International Disputes_. 12

Or

Write an exhaustive note on Prize Court. 12

What are the different kinds of Neutrality ?

Discuss the rights and duties of Neutral

States. 4+8=12
Or :

Write the essential conditions of Blockade ?

Under what circumstances Blockade is

6+6=12

19 (3-VI) PILW/G 3 Contd.



7. What are functions of the League of Natlons ?
Discuss the factors leading to dlssolutlon 01
League of Nations. 4+8=12

-Or

. Write about origin of United Nation
- Organisation. What are its principal organs ?
Explain briefly. - 4+8=12
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